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100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
500
510
520

DIM A(100)

READ N

FOR I =1TCN

READ A(D)

NEXT I

LET C = 1

FORI =1TON -1

1IF A(I) <= A([ew|ea]) THEN GOTO 220
LET B = A(I)

LET A{I} = A(I + 1)

LET A(I + 1) = B

LET C = 0

NEXT I

IF ¢ = THEN GOTO 150
PRINT "SK{E = "; A((es|wo])

]

PRINT "B/ME = " A(fem|w))

LET M = INT(N /2)

IF N / 2 = |aw|ws| THEN GOTO 300

LET B = Afww]en))

GOTO 310

LET B = (AQD + ACaw|ew)) / 2

PRINT "HIR{E = "; B

END

DATA 20

DATA 31, 41, 59, 26, 53, 58, 97, 93, 23, 84

DATA 62, 64, 33, 83, 27, 85, 2, 88, 41, 97
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